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WERRE SRS AR R BRI RE

% g i - KSR B H =2 R & #8 W =
EZHEE 11,675, 879
BEXH 11,675, 879
HRAE 11,675, 879
HRAE 9, 063, 029
HE - MEEKE 334, 681
1 B %R 1.00 172,003 172,003
=
2 EHIHE 1.00 78, 300 78, 300
=
3 BEMEM QEELY) 1.00 84,378 84,378
=
HERAE 712, 664
4 BE 1.00 51,594 51,594
=
5 Alf - BIEE 4.00 18,793 75,172
=1
6 BEHEHE 46.00 3,720 171,120
=1
1T EEEEARE 2.00 15, 769 31,538
=1
8 WEEEARE 44.00 8,710 383, 240
=1
STHREIE 18, 082
9 HtkmAl= 0.30 46, 640 13,992
km
10 BlEHkE (REIEMR) 1.00 4,090 4,090
TEETE
HiAE 7,244,928




WERRE SRS AR R BRI RE

11 BEH#EE (L) 3, 790. 00 120 454, 800
m?2

12 BfE#EZE (G8L) 1,873.00 126 235,998
m?2

13 BKAZED 7K 10mK i# 7,123.00 316 2,250, 868
m?2

14 BKAZEQD 7KiE10~20mK i 8,452.00 395 3,338, 540
m?2

15 BKHAER 7K %20~ 30m3k it 282.00 3,421 964, 722
m?2

BR - |E 152, 674

16 SREEIER 1.00 648, 874 648, 874
=

17 &HR|E 1.00 103, 800 103, 800
=

EEZE 2,612, 850

[ 36, 000

18 EBEBERER 1.00 36, 000 36, 000
=

2B 2,534, 850

19 REER M 1.00 2,534, 850 2,534, 850
=

HiffEEE 42,000

20 EIREE 1.00 42,000 42,000
=




SRS FEERIFFEEERRELHERRRAE

% L] Hs - BIRHE AL g i = # wm =
EZAEE 11, 675, 879
HEE 11,675,879 x 65.1% — 6,876 7,594,121
HEEEE 11,675,879 + 7,594,121 19, 270, 000
BB R 19, 270, 000
HERSHELE 19,270,000 x 10.00% 1,927,000
HEXBE 19,270,000 + 1,927,000 21,197, 000
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&5 1
B FTEER =1
£ 7 R - BARTiE BAGL 2 B O{f € W E B &
BlEFEHED
A 0.50 51, 000. 00 25,500
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 2.00 34, 300. 00 68, 600
BIEBF
A 1.00 32, 200. 00 32,200
EHARE FHEEDY
% 1.00 170, 300. 00 1,703
= it 1E%HeH - 1.00K 172,003. 00 172,003
&5 :2
2 . BATHE =1
£ 7 R - BIRTiE BAGL 2 B Of € W E B &
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
= it 1E%HeH - 1.00K 78, 300. 00 78, 300
%5 :3
B BMERR QEESY) =1
£ 7 R - BIRTiE BAGL 2 B Of € W E B &
BIEHEE
A 2.00 217,000. 00 54,000
cSwy 2tiE
B 1.00 29, 543. 00 29,543/4. 70H / 8H
AR =LY
% 1.00 83, 543. 00 835
= 5 1E%HeH - 1.00K 84, 378. 00 84,378
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RISEERFEREMR)BEHERRRAS

&5 4
2% BE 1KLY
£ 7 R - BAKTiE By = B O{f | W E B &
TEE S4 kY 2L
H 0.10 3,312.00 331/2.00H / 8H
XA FRP D 70PS%! 3.0t
H 0.50 75, 647.00 37,823/ 8H
BIEFEHED
A 0.10 51, 000. 00 5,100
B S HER
A 0.10 44, 000. 00 4,400
B = H AR
A 0.10 34, 300. 00 3,430
AR L NOY
% 1.00 51, 084. 00 510
& B EZBER - 1. 00 51, 594. 00 51,594
5:5
2 BlA - RIEE 183Y (125)
£ 7 R - BAKTiE By = B O{f | W E B &
TEE S4 kY 2L
H 1.00 3,312.00 3,312.2.00H / 8H
XA FRP D 70PS%! 3.0t
H 1.00 75, 647.00 75, 647 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
=R IWRT—2 3>
H 1.00 1, 633. 00 1,633
AR =LY
% 1.00 223, 292. 00 2,232
& B {EZEBERN  12.004 18, 793. 00 225,524
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&S :6
AT BEAE 1B3Y (305)
£ 7 R - BAKTiE By B = B O{f & | W E B &
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBNF
A 1.00 32, 200. 00 32,200
AR =LY
% 1.00 110, 500. 00 1,105
= 5 1YEZRES £ 30.005 3,720.00 111, 605
&5 .17
B FERELSRE 183Y (135)
£ 7 R - KT By B = B Of & | W E B &
TEE S4 kY 2L
B 1.00 3,312.00 3,312/2.00H / 8H
R@EfMm FRP D 70PSZ! 3.0t
B 1.00 75, 647.00 75, 647 8H
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBNF
A 1.00 32, 200. 00 32,200
Zi £k
ZN 13.00 1, 040. 00 13,520
AR =LY
% 1.00 202, 979. 00 2,029
= 5 1YEZRES - 13.005 15, 769. 00 205, 008
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%5 :8
B WEREELRE 183Y (225)
£ 7 R - BAKTiE By = B O{f & | W E B &
TEE S4 kY 2L
=] 1.00 3,312.00 3,312.2.00H / 8H
XA FRP D 70PSZE! 3.0t
=] 1.00 75, 647.00 75, 647 8H
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBNF
A 1.00 32, 200. 00 32,200
= BEYT—H— (RoB47)
X 1.00 280.00 280
AR =LY
% 1.00 189, 739. 00 1,897
& B {EZEBERN - 22.004 8,710.00 191, 636
&5 :9
A A= 1TH&HY (4.8km)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
=] 1.00 3,312.00 3,312.2.00H / 8H
XA FRP D 70PSZE! 3.0t
=] 1.00 75, 647.00 75, 647 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR =LY
% 1.00 221, 659. 00 2,216
& B 1E%HEH :4.80km 46, 640. 00 223,875
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H5:10
2% : MERE (HEIER) 1004&HrE 2 Y
2 Lo R - BAKTiE By = B ff € B W E i %
BlEFEHED
A 1.00 51, 000. 00 51, 000
B S HER
A 2.00 44, 000. 00 88, 000
B = H AR
A 4.00 34, 300. 00 137, 200
BIEBNF
A 4.00 32, 200. 00 128, 800
SR 2RD%
% 1.00 405, 000. 00 4,050
& B {EZBEA : 100. 0% B E 4,090. 00 409, 050
&H#5: 1
2% . BRAE (BEL) 1TH&HY (1510m2)
2 Lo R - KT By = B ff € 8B W E w %
REE 54 kY2
=] 1.00 3,312.00 3,312.2.00H / 8H
XM FRP D 70PS%! 3.0t
=] 1.00 75, 647.00 75, 647 8H
B = H AR
A 2.00 34, 300. 00 68, 600
BIEBNF
A 1.00 32, 200. 00 32, 200
MM 2RD%
% 1.00 179, 759. 00 1,797
& B 1EZ%HES - 1,510.00m2 120. 00 181, 556
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H5 :12
&% BfRAE (8L) 1THHY (1240m2)
£ 7 R - BARTiE BAGL 2 B O{f | W E B &
TEE S4 kY 2L
B 1.00 3,312.00 3,312/2.00H / 8H
B = H AR
A 2.00 34, 300. 00 68, 600
BIEBF
A 1.00 32, 200. 00 32,200
Ao AR 15PS#Y
B 1.00 51,070. 00 51,070 8H
AR =LY
% 1.00 155, 182.00 1, 551
= B EZ8EH - 1,240.00m2 126. 00 156, 733
H5:13
2% BAKHAED KFEIOmEKH 1THHY (1200m2)
£ 7 R - BIRTiE BAGL 2 B Of | W E B &
TEE 5S4 kY 2L
B 1.00 3,312.00 3,312/2.00H / 8H
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBF
A 1.00 32, 200. 00 32,200
B (F A=) 10mk 5%
A 2.00 50, 500. 00 101, 000
BKTHEE (A4 /1\—) 10mk 5%
A 2.00 50, 500. 00 101, 000
rmyg
A 2.00 26, 400. 00 52,800
Ao R 15PS#Y
B 1.00 51,070. 00 51,070 8H
AR =LY
% 1.00 375, 682. 00 3, 756
= B 1EZ8EH - 1,200.00m2 316. 00 379, 438
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H5: 14
25 BKHAED KFE10~20mEKiH 1THZY (1000m2)
£ 7 R - BARTiE BAGL 2 B O{f | W E B &
REE S4 kY 2L
B 1.00 3,312.00 3,312/2.00H / 8H
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBF
A 1.00 32, 200. 00 32,200
BKE (FA/3—) 10mLL £ 20mK 5§
A 2.00 54, 400. 00 108, 800
BKTHEE (A4 /1\—) 10mLL £ 20mk 535
A 2.00 54, 400. 00 108, 800
rmyg
A 2.00 26, 400. 00 52,800
Ao AR 15PS#Y
B 1.00 51,070. 00 51,070 8H
AR =LY
% 1.00 391, 282. 00 3,912
= B 1EZ8EH - 1,000.00m2 395. 00 395, 194
H5 : 15
25 BKHAER KiE20~30mEKiH 1THEY (120m2)
£ 7 R - BIRTiE BAGL 2 B Of | W E B &
REE S4 kY 2L
B 1.00 3,312.00 3,312/2.00H / 8H
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBF
A 1.00 32, 200. 00 32,200
BKE (FA/3—) 20mEL £ 30mKR i
A 2.00 58, 200. 00 116, 400
BKTHEE (A4 /1\—) 20mLL £ 30mk i
A 2.00 58, 200. 00 116, 400
|y g
A 2.00 26, 400. 00 52,800
Ao R 15PS#Y
B 1.00 51,070. 00 51,070 8H
AR =LY
% 1.00 406, 482. 00 4, 064
= 5 YEZERESN : 120.00m2 3,421.00 410, 546
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H5: 16
B |MESER 1Ky
2 Lo R - BAKTiE By = B ff € B 1 i %
BlEFEHED
A 1.50 51, 000. 00 76, 500
B S HER
A 3.50 44, 000. 00 154, 000
B = H AR
A 4.50 34, 300. 00 154, 350
BIEBNF
A 8.00 32, 200. 00 257, 600
EXRARE FHEEDY
% 1.00 642, 450. 00 6,424
& it 1EZBER - 1.00 648, 874. 00 648,874
&H5 17
2 . ZB|E 1Ky
2 Lo R - KT By = B ff € 8B 1 w %
BIEFEHED
A 0.50 51, 000. 00 25, 500
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
& it EZBER - 1.00 103, 800. 00 103, 800
&5 :18
2 EBHRSR 1Ky
2 Lo R - KT By = B ff € 8B 1 w %
(BHERE
= 1.00 36, 000. 00 36, 000
& it EZBER - 1.00 36, 000. 00 36, 000




Rifiz -/ \v7r—o

RISEERFEREMR)BEHERRRAS

H5:19
& REER/RM 1KLY
£ 7 R - BAKTiE By = B O{f & ) W = B &
REERM FRP D 180PSZ!
=] 17.00 148, 367. 00 2,522,239 6.00H / 8H
AR =LY
% 0.50 2,522, 239.00 12, 611
& B 1EZBER - 1.00 2,534, 850. 00 2,534, 850
5:20
& EIRAEE 1Ky
£ 7 R - KT By = B Of & ) W = B &
HEIREE
= 1.00 42,000. 00 42,000
& B EZBER - 1.00 42,000. 00 42,000




